## **ON SOME EIGENVECTOR-EIGENVALUE RELATIONS\***

S. ELHAY<sup>†</sup>, G. M. L. GLADWELL<sup>‡</sup>, G. H. GOLUB<sup>§</sup>, AND Y. M. RAM<sup>¶</sup>

**Abstract.** This paper generalizes the well-known identity which relates the last components of the eigenvectors of a symmetric matrix  $\mathbf{A}$  to the eigenvalues of  $\mathbf{A}$  and of the matrix  $\mathbf{A}_{n-1}$ , obtained by deleting the last row and column of  $\mathbf{A}$ . The generalizations relate to matrices and to Sturm-Liouville equations.

Key words. eigenvalue, eigenvector, matrix, Sturm-Liouville equation, Green's function

AMS subject classifications. 15A18, 15A24, 34B25, 34B27

**PII.** S089547989631072X

1. Introduction. We use the term *Jacobi matrix* to denote a real symmetric tridiagonal matrix with positive off-diagonal terms. It is well known that a Jacobi matrix **A** may be uniquely constructed from the eigenvalues  $\{\lambda_i\}_1^n$  and  $\{\mu_i\}_1^{n-1}$  of **A** and of its leading principal minor  $\mathbf{A}_{n-1}$ , respectively. The first step in the reconstruction procedure is to use the given eigenvalues, which must interlace so that

(1.1) 
$$\lambda_1 < \mu_1 < \lambda_2 < \dots < \mu_{n-1} < \lambda_n$$

to yield the last elements,  $x_n^{(i)}$ , of the normalized eigenvectors  $\mathbf{x}^{(i)}$  of  $\mathbf{A}$ . We use the fact that  $\{\mu_j\}_1^{n-1}$  are the zeros of

(1.2) 
$$\sum_{i=1}^{n} \frac{[x_n^{(k)}]^2}{\lambda_i - \lambda} = 0,$$

so that

(1.3) 
$$\sum_{k=1}^{n} \frac{[x_n^{(k)}]^2}{\lambda_k - \lambda} = c \frac{\prod_{j=1}^{n-1} (\mu_j - \lambda)}{\prod_{j=1}^{n} (\lambda_j - \lambda)}.$$

The identity  $\sum_{k=1}^{n} [x_n^{(k)}]^2 = 1$  implies c = 1, and thus

(1.4) 
$$[x_n^{(k)}]^2 = \frac{\prod_{j=1}^{n-1} (\mu_j - \lambda_k)}{\prod_{j=1, j \neq k}^n (\lambda_j - \lambda_k)}$$

This relation, which has been known for many years (see, say, [7]), is an example of what we term an *eigenvector-eigenvalue relation*.

<sup>\*</sup>Received by the editors October 16, 1996; accepted for publication (in revised form) by J. Varah February 19, 1998; published electronically January 13, 1999.

http://www.siam.org/journals/simax/20-3/31072.html

<sup>&</sup>lt;sup>†</sup>Department of Computer Science, University of Adelaide, Adelaide SA 5005, Australia (elhay@ cs.adelaide.edu.au).

<sup>&</sup>lt;sup>‡</sup>Solid Mechanics Division, Faculty of Engineering, University of Waterloo, Waterloo, ON N2L 3G1 (ggladwel@uwaterloo.ca).

<sup>&</sup>lt;sup>§</sup>Computer Science Department, Stanford University, Stanford, CA, 94305 (golub@sccm.stanford. edu). The work of this author was supported in part by National Science Foundation grant DMS-9403899.

<sup>&</sup>lt;sup>¶</sup>Department of Mechanical Engineering, University of Adelaide, Adelaide SA 5005, Australia (yram@aelmg.adelaide.edu.au).

Many other such relations are known; all involve the eigenvalues of **A** and of some modification of **A**. As another example, if  $\{\lambda_i^*\}_1^n$  are the eigenvalues of the Jacobi matrix **A**<sup>\*</sup>, obtained by replacing the last diagonal element  $a_n$  by  $a_n^*$ , then [6]

(1.5) 
$$1 + (a_n^* - a_n) \sum_{k=1}^n \frac{[x_n^{(k)}]^2}{\lambda_k - \lambda} = \prod_{j=1}^n \left(\frac{\lambda_j^* - \lambda}{\lambda_j - \lambda}\right),$$

from which we deduce

(1.6) 
$$(a_n^* - a_n)[x_n^{(k)}]^2 = \frac{\prod_{j=1}^n (\lambda_j^* - \lambda_k)}{\prod_{j=1, j \neq k}^n (\lambda_j - \lambda_k)}.$$

By comparing the traces of  $\mathbf{A}$  and  $\mathbf{A}^*$  we obtain

(1.7) 
$$(a_n^* - a_n) = \sum_{k=1}^n (\lambda_k^* - \lambda_k).$$

Equations (1.6), (1.7) provide an eigenvector-eigenvalue relation; it is a particular case of a relation referring to the eigenvalues to  $\mathbf{A}$  and some rank-one modification of A; see [10].

Equations (1.4), (1.5), and (1.6) relate to a Jacobi matrix; there are analogous results for continuous systems governed by Sturm-Liouville equations. We give an example, the analogue of (1.5), not the most general result.

Let  $\{\lambda_i\}_0^\infty$ ,  $\{\lambda_i^*\}_0^\infty$  be the eigenvalues of the nonuniform string equation

(1.8) 
$$y''(x) + \lambda \rho(x)y(x) = 0,$$

subject to two sets of end conditions

(1.9) 
$$y'(0) - hy(0) = 0 = y'(l) + Hy(l),$$

(1.10) 
$$y'(0) - hy(0) = 0 = y'(l) + H^*y(l),$$

differing only at the right end, and let  $\rho(x)$  be continuous; then the end values  $y_m(l)$  of the normalized eigenfunctions of (1.8), subject to the condition (1.9), satisfy the equation

(1.11) 
$$1 + (H^* - H) \sum_{m=0}^{\infty} \frac{[y_m(l)]^2}{\lambda_m - \lambda} = c \frac{\prod_{m=0}^{\infty} (1 - \frac{\lambda}{\lambda_m^*})}{\prod_{m=0}^{\infty} (1 - \frac{\lambda}{\lambda_m})}$$

Since  $\lambda_m$ ,  $\lambda_m^* = O(m^2)$  for large m, both infinite products converge. Again we find

(1.12) 
$$(H^* - H)[y_n(l)]^2 = c\lambda_n \prod_{m=0}^{\infty} \left(1 - \frac{\lambda_n}{\lambda_m^*}\right) \left/ \prod_{m=0}^{\infty} \left(1 - \frac{\lambda_n}{\lambda_m}\right), \right.$$

where  $c \prod_{m=0}^{\infty} \left(\frac{\lambda_m}{\lambda_m^*}\right) = 1$ , and the prime means  $m \neq n$ . This example appears in [8] and is rederived in [6, p. 180].

The purpose of this paper is to explore some generalizations of the relations we have described. They will refer to discrete and continuous systems. They will involve squares of eigenvector/eigenfunction values at interior points and products of such values at two different points.

**2.** The generalized eigenvalue problem. Let **A**, **B** be symmetric matrices of order *n*, with **B** positive definite, and let  $\{\lambda_i\}_1^n$ ,  $\{\mathbf{x}^{(i)}\}_1^n$  be the eigenpairs of

(2.1) 
$$(\mathbf{A} - \lambda \mathbf{B})\mathbf{x} = \mathbf{0};$$

then A, B may be simultaneously diagonalized so that

(2.2) 
$$\mathbf{X}^T \mathbf{A} \mathbf{X} = \wedge, \quad \mathbf{X}^T \mathbf{B} \mathbf{X} = \mathbf{I},$$

where  $\wedge = \operatorname{diag}(\lambda_1, \lambda_2, \dots, \lambda_n)$ ,  $\mathbf{X} = [\mathbf{x}^{(1)}, \mathbf{x}^{(2)}, \dots, \mathbf{x}^{(n)}]$ , and

(2.3) 
$$\mathbf{A} - \lambda \mathbf{B} = \mathbf{X}^{-T} (\wedge - \lambda \mathbf{I}) \mathbf{X}^{-1}.$$

Provided that  $\lambda \neq \lambda_i$ , i = 1, 2, ..., n, we may invert this to give

(2.4) 
$$(\mathbf{A} - \lambda \mathbf{B})^{-1} = \mathbf{X} (\wedge - \lambda \mathbf{I})^{-1} \mathbf{X}^{T}.$$

This gives the following lemma.

LEMMA 2.1. Provided the eigenvalue  $\lambda_k$  is simple, then

(2.5) 
$$x_i^{(k)} x_j^{(k)} = \lim_{\lambda \to \lambda_k} (\lambda_k - \lambda) \mathbf{e}_i^{\mathbf{T}} (\mathbf{A} - \lambda \mathbf{B})^{-1} \mathbf{e}_j$$

where  $\mathbf{e}_i$  denotes the *i*th column of **I**.

*Proof.* Let  $\alpha_{ij}(\lambda)$  be the i, j element of  $(\mathbf{A} - \lambda \mathbf{B})^{-1}$ , so that

(2.6) 
$$\alpha_{ij}(\lambda) = \mathbf{e}_i^T (\mathbf{A} - \lambda \mathbf{B})^{-1} \mathbf{e}_j.$$

Then (2.4) gives

(2.7) 
$$\alpha_{ij}(\lambda) = \sum_{k=1}^{n} \frac{x_i^{(k)} x_j^{(k)}}{\lambda_k - \lambda}$$

so that, provided the eigenvalue  $\lambda_k$  is simple,

(2.8) 
$$x_i^{(k)} x_j^{(k)} = \lim_{\lambda \to \lambda_k} (\lambda_k - \lambda) \alpha_{ij}(\lambda). \quad \Box$$

We now apply this result with some special choices of **A** and **B**. We introduce some notation. Let  $\mathbf{A}_k(\mathbf{A}_k^R)$ ,  $1 \leq k \leq n$ , denote the leading (trailing) principal submatrix of order k of the square matrix **A**. We let  $P_k(\lambda), Q_k(\lambda)$  denote, respectively, the kth order leading and trailing principal minors of  $\mathbf{A} - \lambda \mathbf{B}$ , and  $(\mu_i)_1^{n-1}$  denote the zeros of  $P_{n-1}(\lambda)$ .

Theorem 2.1.

(2.9) 
$$[x_n^{(k)}]^2 = \frac{|\mathbf{B}_{n-1}| \prod_{j=1}^{n-1} (\mu_j - \lambda_k)}{|\mathbf{B}_n| \prod_{j=1}^{n\prime} (\lambda_j - \lambda_k)},$$

where  $\prime$  denotes  $j \neq k$ .

*Proof.* Consider the equation

(2.10) 
$$(\mathbf{A} - \lambda \mathbf{B})\mathbf{y} = \mathbf{e}_n.$$

If  $\lambda \neq \lambda_i$   $(i = 1, 2, \ldots, n)$ , then

(2.11) 
$$y_n = \mathbf{e}_n^T (\mathbf{A} - \lambda \mathbf{B})^{-1} \mathbf{e}_n = \alpha_{nn}(\lambda).$$

But Cramer's rule applied to (2.10) gives

(2.12) 
$$y_n = \frac{|\mathbf{A}_{n-1} - \lambda \mathbf{B}_{n-1}|}{|\mathbf{A}_n - \lambda \mathbf{B}_n|} = \frac{P_{n-1}(\lambda)}{P_n(\lambda)}.$$

But  $\{\mu_i\}_1^{n-1}$  are the zeros of  $P_{n-1}(\lambda)$  and  $(\lambda_i)_1^n$  are the zeros of  $P_n(\lambda)$ , so that

(2.13) 
$$\alpha_{nn}(\lambda) = y_n = \frac{|\mathbf{B}_{n-1}| \prod_{j=1}^{n-1} (\mu_j - \lambda)}{|\mathbf{B}_n| \prod_{j=1}^n (\lambda_j - \lambda)},$$

and Lemma 2.1, with i = j = n, gives

(2.14) 
$$[x_n^{(k)}]^2 = \frac{|\mathbf{B}_{n-1}| \prod_{j=1}^{n-1} (\mu_j - \lambda_k)}{|\mathbf{B}_n| \prod_{j=1}^{n'} (\lambda_j - \lambda_k)}. \qquad \Box$$

Theorem 2.1 generalizes (1.4). It holds provided that  $\lambda_k$  is simple. We recall that the eigenvalues of a Jacobi matrix (to which (1.4) applies) are always simple, and the eigenvalues  $\lambda_i$ ,  $\mu_i$  appearing in (1.4) always *strictly* interlace according to (1.1), so that (1.4) never breaks down and  $[x_n^{(k)}]^2$  is always positive;  $x_n^{(k)}$  is never zero. For the generalized eigenvalue problem (2.1), the eigenvalues need not be simple, and the eigenvalues  $\lambda_i$ ,  $\mu_i$  satisfy only

(2.15) 
$$\lambda_1 \le \mu_1 \le \lambda_2 \le \dots \le \mu_{n-1} \le \lambda_n.$$

If  $\lambda_k$  is simple, so that  $\lambda_{k-1} < \lambda_k < \lambda_{k+1}$ , then (2.9) holds for that value of k;  $x_n^{(k)}$  will be zero if  $\mu_{k-1} = \lambda_k$  or  $\mu_{k+1} = \lambda_k$ . If  $\lambda_k$  is not simple, then we have the following corollary.

COROLLARY 2.1. Suppose  $\lambda_k$  has multiplicity s, so that

$$\lambda_{k-1} < \lambda_k = \mu_k = \lambda_{k+1} = \dots = \mu_{k+s-2} = \lambda_{k+s-1} \le \mu_{k+s-1} < \lambda_{k+s}.$$

Then

(2.16) 
$$[x_n^{(k)}]^2 = \frac{|B_{n-1}|\prod_{j=1}^{n-1} \prime(\mu_j - \lambda_k)}{|B_n|\prod_{j=1}^n \prime\prime(\lambda_j - \lambda_k)},$$

where  $\prime$  means j = 1, 2, ..., k - 1, k + s - 1, ..., n - 1 and  $\prime \prime$  means j = 1, 2, ..., k - 1, k + s, ..., n.

*Proof.* The numerator and denominator of (2.14) will have a common factor  $(\lambda_k - \lambda)^{s-1}$  which can be cancelled.  $\Box$ 

The results in Theorem 2.1 and its corollary are obtained from Lemma 2.1 for i = j = n. There are analogous expressions for  $[x_1^{(k)}]^2$ , but there are, in general, no simple extensions to  $[x_m^{(k)}]^2$  where 1 < m < n. To obtain simple extensions we must restrict the forms of **A** and **B** and suppose that they are both tridiagonal.

We obtain the following lemma.

LEMMA 2.2. Suppose **A** and **B** are tridiagonal matrices with codiagonals  $(b_1, b_2, \ldots, b_{n-1})$  and  $(d_1, d_2, \ldots, d_{n-1})$ , respectively, and suppose  $1 \le i \le j \le n$  and  $\lambda \ne \lambda_k$ ,  $k = 1, 2, \ldots, n$ . Then

(2.17) 
$$\alpha_{ij}(\lambda) = (-1)^{i+j} \frac{P_{i-1}(\lambda) \prod_{k=i}^{j-1} (b_k - \lambda d_k) Q_{n-j}(\lambda)}{P_n(\lambda)}.$$

Proof. Consider the equation

$$(\mathbf{A} - \lambda \mathbf{B})y = \mathbf{e}_j.$$

If  $\lambda \neq \lambda_k$ ,  $k = 1, 2, \ldots, n$ , then

(2.19) 
$$y_i = \mathbf{e}_i^T (\mathbf{A} - \lambda \mathbf{B})^{-1} \mathbf{e}_j = \alpha_{ij}(\lambda).$$

But Cramer's rule applied to (2.18) shows that

(2.20) 
$$\alpha_{ij}(\lambda) = y_i = \frac{\hat{p}_{ij}(\lambda)}{p_n(\lambda)},$$

where  $\hat{p}_{ij}(\lambda)$  is the determinant of the matrix obtained by replacing the *i*th column of  $\mathbf{A} - \lambda \mathbf{B}$  by  $\mathbf{e}_j$ . Thus

$$\hat{p}_{ij}(\lambda) = \begin{vmatrix} a_1 - \lambda c_1 & b_1 - \lambda d_1 & 0 \\ b_1 - \lambda d_1 & a_2 - \lambda c_2 & \cdots & 0 \\ \cdots & \cdots & \cdots & 1 \\ & & 0 & \cdots & a_{n-1} - \lambda c_{n-1} & b_{n-1} - \lambda d_{n-1} \\ & & & 0 & \cdots & b_{n-1} - \lambda d_{n-1} & a_n - \lambda c_n \end{vmatrix} \quad j.$$
(2.21)

Assuming that  $i \leq j$ , and expanding  $\hat{p}_{ij}(\lambda)$  along its *i*th column, we obtain the stated result.  $\Box$ 

Note that the numerator involves a leading minor, a product, and a trailing minor. Let us consider the interpretation of (2.18). The original equation may be interpreted as the equation governing the free vibration of a mechanical system with

stiffness and inertia matrices  $\mathbf{A}$ ,  $\mathbf{B}$ , respectively. The eigenvalues  $\lambda_i$  are the squares,  $\omega_i^2$ , of the natural frequencies; and the  $\mathbf{x}_i$ , the eigenvectors, are the mode shapes. The term  $\alpha_{ij}(\lambda)$  is the influence function linking coordinates i and j: it gives the solution  $y_i$  for a unit in the jth place on the right-hand side of (2.14). We can think of this as the displacement at i due to a unit load at j; thus  $\alpha_{ij}(\lambda)$  is the receptance [3] between points i and j. Equation (2.18) thus states that  $\alpha_{ij}(\lambda)$  is zero when  $P_{i-1}(\lambda) = 0$ ,  $Q_{n-j}(\lambda) = 0$ , or the product is zero. But the zeros of  $P_{i-1}(\lambda)$  are simply the eigenvalues  $(\lambda_k^L)_1^{i-1}$  of the equation

(2.22) 
$$(\mathbf{A}_{i-1} - \lambda \mathbf{B}_{i-1})\mathbf{x} = \mathbf{0},$$

while the zeros of  $Q_{n-j}(\lambda)$  are the eigenvalues  $(\lambda_k^R)_1^{n-j}$  of the equation

(2.23) 
$$(\mathbf{A}_{n-j}^R - \lambda \mathbf{B}_{n-j}^R) \mathbf{x} = \mathbf{0}.$$

(Remember that  $A_k(A_k^R)$  is the leading (trailing) principal submatrix of order k.) In the important physical case in which  $b_k < 0$  and  $d_k \ge 0$ , the product in (2.18) has no positive zero; we examine this application in section 5.

We now have the following theorem.

THEOREM 2.2. Suppose **B** is diagonal,  $1 \le i \le j \le n$ , and  $1 \le k \le n$ . Then

(2.24) 
$$\frac{x_i^{(k)} x_j^{(k)}}{\alpha_{ij}(0)} = \frac{\lambda_k \prod_{m=1}^{i-1} (1 - \frac{\lambda_k}{\lambda_m^L}) \prod_{m=1}^{n-j} (1 - \frac{\lambda_k}{\lambda_m^R})}{\prod_{m=1}^n \prime (1 - \frac{\lambda_k}{\lambda_m})}.$$

*Proof.* When **B** is diagonal,  $d_r = 0$ , so that (2.17) reduces to

(2.25) 
$$\alpha_{ij} = c \frac{P_{i-1}(\lambda)Q_{n-j}(\lambda)}{P_n(\lambda)}, \quad c = (-1)^{i+j} \prod_{r=i}^{j-1} b_r$$

On normalizing  $\alpha_{ij}$  by its value for  $\lambda = 0$ , and by factorizing the various terms, we find

(2.26) 
$$\Phi_{ij}(\lambda) \equiv \frac{\alpha_{ij}(\lambda)}{\alpha_{ij}(0)} = \frac{\prod_{m=1}^{i-1} (1 - \frac{\lambda}{\lambda_m^L}) \prod_{m=1}^{n-j} (1 - \frac{\lambda}{\lambda_m^R})}{\prod_{m=1}^n (1 - \frac{\lambda}{\lambda_m})}.$$

Using this in (2.6), we find the required result.

We note that, when **B** is diagonal, the  $(\lambda_m)_1^n$  are distinct, so that the denominator in (2.24) cannot be zero. The numerator can be zero, since one of each of the sets  $(\lambda_m^L)_1^{i-1}$  and  $(\lambda_m^R)_1^{n-j}$  can be equal to  $\lambda_k$ . Theorem 2.1, Corollary 2.1, and Theorem 2.2 provide generalization of the known result (1.4).

We now explore some continuous analogues of these results.

3. Sturm–Liouville systems. Let L denote the Sturm–Liouville operator given by

(3.1) 
$$Ly(x) = -(p(x)y'(x))' + q(x)y(x),$$

and consider the system

(3.2) 
$$Ly(x) = \lambda \rho(x)y(x),$$

subject to the end conditions

(3.3) 
$$p(0)y'(0) - hy(0) = 0 = p(l)y'(l) + Hy(l).$$

Such a system can model the free vibration of a rod or string fastened at its ends by springs of stiffness h, H, respectively; h or H is zero at a free end, infinite at a fixed end.

We are not concerned here with the most general regularity conditions satisfied by p, q, and  $\rho$ . We assume that p(x), p'(x), q(x), and  $\rho(x)$  are continuous in (0, l). References to the general theory may be found in [9], [1], and [2].

The Green's function  $G(x, s, \lambda)$  for the system satisfies, as a function of x

- (a) the equation (3.2), except at s,
- (b) the end conditions (3.3),
- (c) the jump condition

(3.4) 
$$[p(x)y'(x)]_{x=s-}^{x=s+} = -1.$$

It is well known [4, Chapter 5] that if  $\lambda$  is not an eigenvalue of (3.2), (3.3), then  $G(x, s, \lambda)$  may be constructed as follows. Let  $\phi(x), \psi(x)$  be solutions of (3.2) satisfying

(3.5) 
$$p(0)\phi'(0) - h\phi(0) = 0 = p(l)\psi'(l) + H\psi(l),$$

respectively; then

(3.6) 
$$p(x)\{\phi(x)\psi'(x) - \phi'(x)\psi(x)\} = \text{constant.}$$



This constant is zero if  $\lambda$  is an eigenvalue of (3.2), (3.3) and nonzero otherwise; in the latter case we can choose the constant to be -1, and then

(3.7) 
$$G(x,s,\lambda) = \begin{cases} \phi(x)\psi(s), & 0 \le x \le s, \\ \phi(s)\psi(x), & s \le x \le l. \end{cases}$$

The functions  $\phi$ ,  $\psi$  are functions of x and  $\lambda$ ; if  $\lambda = 0$  is not an eigenvalue of (3.2), (3.3), i.e., if h, H are not both zero, then

(3.8) 
$$G(x,s,0) = \begin{cases} \phi_0(x)\psi_0(s), & 0 \le x \le s, \\ \phi_0(s)\psi_0(x), & s \le x \le l, \end{cases}$$

where  $\phi_0(x)$ ,  $\psi_0(x)$  denote  $\phi(x)$ ,  $\psi(x)$ , respectively, for  $\lambda = 0$ .

The Green's function  $G(x, s, \lambda)$  is the analogue of the receptance  $\alpha_{ij}(\lambda)$  for matrix systems; like  $\alpha_{ij}(\lambda)$ , it has poles and zeros. In section 2 we explicitly showed  $\alpha_{ij}(\lambda)$  as a product of two polynomials  $P_{i-1}(\lambda)$ ,  $Q_{n-j}(\lambda)$  divided by  $P_n(\lambda)$ . The polynomials  $P_{i-1}(\lambda)$ ,  $Q_{n-j}(\lambda)$  related to the parts of the system, respectively, to the left of *i* and to the right of *j*, and their zeros were the eigenvalues of these parts, as shown in (2.22), (2.23). We will now show how the Green's function  $G(a, b, \lambda)$ , with  $a \leq b$ , may be expressed in an analogous way as a product of two quantities referring, respectively, to the parts of the system to the left of *a*, and to the right of *b*, divided by a third quantity relating to the whole interval (0,l).

Suppose  $a \leq b$ , and define the normalized Green's function

(3.9) 
$$\Phi(a,b,\lambda) = \frac{G(a,b,\lambda)}{G(a,b,0)} = \frac{\phi(a)\psi(b)}{\phi_0(a)\psi_0(b)}.$$

Let  $\{\lambda_n^L\}_1^\infty$ ,  $\{\lambda_n^R\}_1^\infty$  be the eigenvalues of the subsystems  $S_1$ ,  $S_2$  governed by (3.2) with the end conditions

(3.10) 1. 
$$p(0)y'(0) - hy(0) = 0, \quad y(a) = 0,$$

(3.11) 2. 
$$y(b) = 0, \quad p(l)y'(l) + Hy(l) = 0,$$

and let  $\{\lambda_n\}_1^{\infty}$  be the eigenvalues of (3.1)–(3.3). We prove the following theorem. THEOREM 3.1.

(3.12) 
$$\Phi(a,b,\lambda) = \frac{\prod_{n=1}^{\infty} (1 - \frac{\lambda}{\lambda_n^L}) \prod_{n=1}^{\infty} (1 - \frac{\lambda}{\lambda_n^R})}{\prod_{n=1}^{\infty} (1 - \frac{\lambda}{\lambda_n})}$$

*Proof.* Fig. 1 shows the system divided into three parts.

To find the Green's function of system 1, we need function  $\phi_1(x)$ ,  $\psi_1(x)$  satisfying, respectively, the left and right end conditions of system 1 and the jump condition; we may take

(3.13) 
$$\phi_1(x) = \phi(x), \quad \psi_1(x) = \psi(x) - \frac{\psi(a)}{\phi(a)}\phi(x).$$

We now introduce the function

(3.14) 
$$H_1(\lambda) = \lim_{\varepsilon \to 0} \frac{G_1(\varepsilon, a - \varepsilon, 0)}{G_1(\varepsilon, a - \varepsilon, \lambda)}$$

(3.15) 
$$= \lim_{\varepsilon \to 0} \frac{\phi_{1,0}(\varepsilon)}{\phi_1(\varepsilon)} \cdot \frac{\psi_{1,0}(a-\varepsilon)}{\psi_1(a-\varepsilon)},$$

where  $\phi_{1,0}(x)$ ,  $\psi_{1,0}(x)$  denote, respectively, the values of  $\phi_1(x)$ ,  $\psi_1(x)$  for  $\lambda = 0$ . Since  $\psi_1(a) = 0 = \psi_{1,0}(a)$ , we have

(3.16) 
$$\lim_{\varepsilon \to 0} \frac{\psi_{1,0}(a-\varepsilon)}{\psi_1(a-\varepsilon)} = \frac{\psi_{1,0}'(a)}{\psi_1'(a)} = \frac{\phi(a)}{\phi_0(a)}$$

because of (3.6). The limit of the first quotient in (3.14) is

(3.17) 
$$\lim_{\varepsilon \to 0} \frac{\phi_{1,0}(\varepsilon)}{\phi_1(\varepsilon)} = \lim_{\varepsilon \to 0} \frac{\phi_0(\varepsilon)}{\phi_1(\varepsilon)} = \frac{\phi_0(0)}{\phi(0)}$$

if h is finite, and  $\phi'_0(0)/\phi'(0)$  if h is infinite. Thus

(3.18) 
$$H_1(\lambda) = \begin{cases} \frac{\phi_0(0)}{\phi(0)} \cdot \frac{\phi(a)}{\phi_0(a)} & \text{if } h \text{ is finite,} \\ \frac{\phi'_0(0)}{\phi'(0)} \cdot \frac{\phi(a)}{\phi_0(a)} & \text{if } h \text{ is infinite.} \end{cases}$$

We may now consider system 2 similarly. We take

(3.19) 
$$\phi_2(x) = \phi(x) - \frac{\phi(b)}{\psi(b)}\psi(x), \quad \psi_2(x) = \psi(x),$$

define

(3.20) 
$$H_2(\lambda) = \lim_{\varepsilon \to 0} \frac{G_2(b+\varepsilon, l-\varepsilon, 0)}{G_2(b+\varepsilon, l-\varepsilon, \lambda)},$$

and find

(3.21) 
$$H_2(\lambda) = \begin{cases} \frac{\psi(b)}{\psi_0(b)} \cdot \frac{\psi_0(l)}{\psi(l)} & \text{if } H \text{ is finite,} \\ \frac{\psi(b)}{\psi_0(b)} \cdot \frac{\psi'_0(l)}{\psi'(l)} & \text{if } H \text{ is infinite.} \end{cases}$$

Finally we take the whole system, with end conditions (3.3), and define

(3.22) 
$$H(\lambda) = \lim_{\varepsilon \to 0} \frac{G(\varepsilon, l - \varepsilon, 0)}{G(\varepsilon, l - \varepsilon, \lambda)}$$

and find that this has one of the values

(3.23) 
$$\frac{\phi_0(0)\psi_0(l)}{\phi(0)\psi(l)}, \quad \frac{\phi_0'(0)\psi_0(l)}{\phi'(0)\psi(l)}, \quad \frac{\phi_0(0)\psi_0'(l)}{\phi(0)\psi'(l)}, \quad \frac{\phi_0'(0)\psi_0'(l)}{\phi'(0)\psi'(l)}$$

according to whether both, one, the other, or neither of h, H are finite.

Combining (3.18), (3.21), (3.22) we find the fundamental relation for  $\Phi(a, b, \lambda)$  defined in (3.9):

(3.24) 
$$\Phi(a,b,\lambda) = \frac{H_1(\lambda)H_2(\lambda)}{H(\lambda)}.$$

We now show that  $H_1(\lambda)$ ,  $H_2(\lambda)$ , and  $H(\lambda)$  may, like  $P_{i-1}(\lambda)$ ,  $Q_{n-j}(\lambda)$  and  $P_n(\lambda)$  in (2.21), be expressed as product of factors relating to the subsystems 1, 2, and the whole.

First consider the case when h is finite. It is known (see, for example, [11]) that, treated as a function of  $\lambda$ , the quantity  $\phi(a)/\phi(0)$  is an entire function of  $\lambda$ , of order 1/2. By Hadamard's factorization theorem it may therefore be expressed as a product of its factors; i.e.,

(3.25) 
$$\frac{\phi(a)}{\phi(0)} = c \prod_{n=1}^{\infty} \left( 1 - \frac{\lambda}{a_n} \right).$$

But the zeros of  $\phi(a)$  are precisely the eigenvalues of system 1 (i.e.,  $\lambda_n^L$ ) so that  $a_n = \lambda_n^L$ . It is known [11] that  $\lambda_n^L = O(n^2)$  for large *n*, so that the product (3.24) converges. The constant *c* is  $\phi_0(a)/\phi_0(0)$ . Thus

(3.26) 
$$H_1(\lambda) = \frac{\phi(a)}{\phi(0)} \cdot \frac{\phi_0(0)}{\phi_0(a)} = \prod_{n=1}^{\infty} \left(1 - \frac{\lambda}{\lambda_n^L}\right).$$

If h is infinite,  $H_1(\lambda)$  is defined by the second line of (3.18), but the final result for  $H_1(\lambda)$  still holds.

We may deduce, in a similar way, that

(3.27) 
$$H_2(\lambda) = \prod_{n=1}^{\infty} \left( 1 - \frac{\lambda}{\lambda_n^R} \right)$$

To investigate  $H(\lambda)$ , we note that the jump condition (3.6) and second of the end conditions (3.5) give

(3.28) 
$$\psi(l)\{p(l)\phi'(l) + H\phi(l)\} = 1 = \psi_0(l)\{p(l)\phi'_0(l) + H\phi_0(l)\}$$

so that when h, H are finite, and not both zero,

(3.29) 
$$H(\lambda) = \frac{p(l)\phi'(l) + H\phi(l)}{\phi(0)} \cdot \frac{\phi_0(0)}{p(l)\phi'_0(l) + H\phi_0(l)}$$

Again,  $H(\lambda)$  is an entire function of order 1/2, whose zeros are those  $\lambda$  for which there is a solution  $\phi(x)$  satisfying *both* end conditions (3.3), i.e.,  $\lambda = \lambda_n$ . Thus

(3.30) 
$$H(\lambda) = \prod_{n=1}^{\infty} \left( 1 - \frac{\lambda}{\lambda_n} \right).$$

This result still holds when one or both of h, H are infinite.

Equations (3.24), (3.26), (3.27), (3.29) now yield the stated result (3.12). COROLLARY 3.1. Let  $\{u_r(x)\}$  be the eigenfunctions of (3.1)–(3.3); then

(3.31) 
$$\frac{u_r(a)u_r(b)}{\sum_{r=1}^{\infty}\frac{u_r(a)u_r(b)}{\lambda_r}} = \frac{\lambda_r \prod_{n=1}^{\infty} (1 - \frac{\lambda_r}{\lambda_n^L}) \prod_{n=1}^{\infty} (1 - \frac{\lambda_r}{\lambda_n^R})}{\prod_{n=1}^{\infty} \prime (1 - \frac{\lambda_r}{\lambda_n})}.$$

*Proof.* The usual modal expansion of  $G(a, b, \lambda)$ , namely,

(3.32) 
$$G(a,b,\lambda) = \sum_{r=1}^{\infty} \frac{u_r(a)u_r(b)}{\lambda_r - \lambda},$$

when substituted in (3.9), gives

(3.33) 
$$\Phi(a,b,\lambda) = \frac{\sum_{r=1}^{\infty} \frac{u_r(a)u_r(b)}{\lambda_r - \lambda}}{\sum_{r=1}^{\infty} \frac{u_r(a)u_r(b)}{\lambda_r}}$$

which, when combined with Theorem 3.1, yields the required result. We note that

(3.34) 
$$\sum_{r=1}^{\infty} \frac{u_r(a)u_r(b)}{\lambda_r} = \phi_0(a)\psi_0(b),$$

and  $\phi_0(a), \psi_0(b)$  may be expressed explicitly in terms of p(x), q(x), h, H.

4. Conclusion. Corollary 3.1 provides the desired continuous analogue of Theorem 2.2. The analysis shows that the continuous analogues of the leading and trailing minors are the functions  $H_1(\lambda)$ ,  $H_2(\lambda)$ , defined in (3.14), (3.20). We note that  $H_1(\lambda)$ ,  $H_2(\lambda)$  are not just reciprocals of the Green's functions, as one might expect at first thought, but limiting values of the normalized reciprocals of the Green's functions between the points near the ends of the intervals (0, a) and (b, l).

Various other eigenvector-eigenvalue relations may be obtained from Theorem 2.2 by taking i = j, i = 1, or j = n or in Corollary 3.1 by taking a = b, a = 0, or b = l.

5. An application. Consider the mass spring system shown in Fig. 2. This is the customary model of an in-line axially vibrating system; by replacing the masses and axial springs by polar inertias and torsional springs, respectively, we obtain the analogous torsionally vibrating system. We show that the analysis may be used to find those frequencies of oscillation at which a particular displacement vanishes. These frequencies are the vibration absorber frequencies which play an important role in vibration isolation. We may tune, for example, the working frequencies of an unbalanced motor, mounted on a shaft, to eliminate the steady state vibrations at a certain position where sensitive mechanical or electrical equipment is located, such as isolation from vibration and noise-induced vibration usually required in aircraft structures. (For other applications, see [5, Sections 3.2, 3.3, 4.2].)



FIG. 2. A spring-mass system (a) has left and right end parts shown in (b) and (c), respectively.



FIG. 3. The rod (a) has left and right end parts (b) and (c).

The receptance  $\alpha_{ij}$  in (2.6) gives the response at mass *i* due to a unit load with frequency  $\omega$  ( $\omega^2 = \lambda$ ) at mass *j*. Without loss of generality we can consider just the case  $i \leq j$ . The expression (2.22) for  $\alpha_{ij}$  shows that  $u_i$  will be zero if  $\lambda = \lambda_m^L$  for some  $m = 1, 2, \ldots, i - 1$  or  $\lambda = \lambda_m^L$  for some  $m = 1, 2, \ldots, n - j$ . Moreover, by applying superposition, we see that if loads are applied at masses  $i + 1, \ldots, n$  with the same frequency  $\omega$  ( $\omega^2 = \lambda$ ), then  $u_i$  will be zero if  $\lambda = \lambda_m^L$  for some  $m = 1, 2, \ldots, i - 1$ .

The continuous analogue of the discrete system of Fig. 2 is the axially vibrating rod shown in Fig. 3a. Now we apply Theorem 3.1. If a load with frequency  $\omega$  ( $\omega^2 = \lambda$ ) is applied at x = b, then the displacement at x = a will be zero if  $\lambda = \lambda_n^L$  or  $\lambda = \lambda_n^R$  for some n. By superposition, we see that if loads are applied to the part  $a < x \leq l$  with the same frequency  $\omega$ , then u(a) will be zero if  $\lambda = \lambda_n^L$  for some n.

## REFERENCES

- L. E. ANDERSSON, Inverse eigenvalue problems with discontinuous coefficients, Inverse Problems, 4 (1988), pp. 353–397.
- [2] L. E. ANDERSSON, Inverse eigenvalue problems for a Sturm-Liouville equation in impedance form, Inverse Problems, 4 (1988) pp. 929–971.
- [3] R. E. D. BISHOP AND D. C. JOHNSON, The Mechanics of Vibration, Cambridge University Press, London, 1960.
- [4] R. COURANT AND D. HILBERT, Methods of Mathematical Physics, Vol. I, Interscience, New York, 1953.

- [5] J. P. DEN HARTOG, Mechanical Vibrations, McGraw-Hill, New York, 1956.
- [6] G. M. L. GLADWELL, *Inverse Problems in Vibration*, Martinus Nijhoff Publishers, Dordrecht, the Netherlands, 1986.
- [7] G. H. GOLUB, Some uses of the Lanczos algorithm in numerical linear algebra, in Topics in Numerical Analysis, J. H. H. Miller, ed., Springer-Verlag, Heidelberg, New York, 1973, pp. 23–31.
- [8] B. M. LEVITAN, On the determination of a Sturm-Liouville equation by spectra, Izv. Akad. Nauk SSSR Ser. Mat., 28 (1964), pp. 63–68 (in Russian); Amer. Math. Soc. Transl., 68 (1964), pp. 1–20.
- [9] J. R. MCLAUGHLIN, Analyticaly methods for recovering coefficients in differential equations from spectral data, SIAM Rev., 28 (1986), pp. 53–72.
- [10] Y. M. RAM, Inverse eigenvalue problems for a modified vibrating system, SIAM J. Appl. Math, 53 (1993), pp. 1762–1775.
- [11] E. C. TITCHMARSH, Eigenfunction Expansions, Part I. Oxford University Press, Oxford, 1962.